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THE OPEN UNIVERSITY OF SRI LANKA
BACHELOR OF MANAGEMENT STUDIES DEGREE PROGRAMME

LEVEL -4

FINAL EXAMINATION - 2012
MACRO ECONOMICS - MCU 2207

TIME: THREE (03) HOURS

DATE: 09.02.2013 TIME: 09.30 A.M. - 12.30 P.M.

Answer Part “A” and any three (03) questions from Part “B”

1 @

(b)

(©)

(d)

Part A

What are the approaches available, in measuring the National Income of a country ?
Explain. (06 marks)

If the Savings Function is given as;

S=-48 + 2Y,, develop the Consumption Function from that and explain both
functions using illustrations. (06 marks)

“The higher the Marginal Propensity to Save (M.P.S), the higher is the
Expenditure Multiplier”. Do you agree ? Explain. (05 marks)

Details of a three sector economy given as; (Figures in Rupees Billions)

C =64 + 0.8Y, (Consumption)
I = 48 (Investments)

G =52 (Government Expenditure)

(1) Calculate the equilibrium level of National Income (03 marks)
(i)  If the government introduces an autonomous tax of 12 billion (T = 12),

Find the equilibrium level of National income. (03 marks)
(ii1)  Suppose the government introduces an income tax of 10% in addition to
the autonomous taxes and also transfer payments of 7 billion (ﬁ =7)
Find the equilibrium level of National Income. (04 marks)
(iv)  Calculate the Expenditure, Tax and Transfer multipliers. (04 marks)
Suppose the economy becomes an open economy and following changes
take place.
X = 42 billion (Exports)
M=34+0.2 Y (Imports)

v) Calculate the equilibrium level of National Income. (05 marks)
(vi)  Find the Expenditure, Tax and Transfer multipliers. (04 marks)
(Total marks 40)
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Part B

“Among the tools that government have available to them for influencing the macro

economy, are Fiscal policies, Monetary policies and supply side policies” Discuss, taking
Sri Lankan economy as an example.

(a)

(b)

(a)

(a)

(b)

(c)

(20 marks)

Using IS/LM Model, explain the impact of the following given conditions on the
aggregate income and interest rate of a country.

1) The Central bank decides to introduce contractionary monetary policies.

(i)  The government decides to invest heavily on infrastructure development
projects.

(i)  The government decides to increase the income tax rates.
(iv)  The average price level in the economy increases.

(12 marks)

Using illustration distinguish between Partial Crowding Out effect and Full
Crowding Out effect.

(08 marks)

“In addition to excessive money supply, the other factors too cause continuous

inflation of a country”. Do you agree? Explain taking Sri Lankan Economy as an
example.

(20 marks)

Using illustrations explain the phases of a “Business Cycle”.

(06 marks)

Explain whether economies in the real world behave exactly the same way as you
have explained in part “(a)” above.

(06 marks)

Economies of the major trading partners of Sri Lanka have gone into recession
recently. Discuss the impact of that on the Sri Lankan Economy.

(08 marks)
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(iii)

(iv)

00085

Are the following statements “true’ of “false’ ? Explain your answer.

It is possible to reduce Structural unemployment by improving the flow of job
information in the labour market. ' (05 marks)

The government policies such as minimum wages can create unemployment.

(05 marks)

The Natural Rate of Unemployment is (NRU);

Number Cyclically + Frictionally unemployed .

100
Labour force
(05 marks)
The official unemployment rate always reflects the actual unemployment level of
a country. : (05 marks)
- Rights Reserved -
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uGs ‘A’ @b, uEd ‘B’ ulddmhs Bree (04) elamessend@id ol sipHs.
ugg ‘A’

Q@ BTG CHFW amTIHMES ATNBoUHBEGTEN DG LPHBHST WITeneu?
(06 yeiTerflasir)
Cxfily QsmPfBur® (Savings Function) ewewr S=-—48 +2Y, eeng Sy Lmsd
SHGHH HieiTey Gamibur® (consumption function) enewr  oifellmés CFuigl,
SIMEUBSIT  ETERTYSHETILID UsHILIL BIFSensds GETemih allod:@b.
06 Usefassr)

“erevemsvg GOy priLid  (M.P.S) e _wimid Burg Qe QUGS BEHD 2 wiHid”.
B mpplener gnmid Qsreiasisyn? elend@s.
(05 yeiteflamsiT)

apsiipl Siempl GurmstTaTgdhasit (Three sector economy) efuigriseir 1968
SUHLOTmIsITaen. (HUTUIGBSET lsvadluiahed)

C =64+ 0.8Y, (pstoys Gaevey )
1= 48 (wssSBmsit CFevay)

G =952 (a5 Gaeveyseir)

i. Cxpdlu euponanset  FwoPmey UL SHlewen (equilibrium level) samsHGHs.
03 yeiTerflasiT)
ii. OIFMEIED awtdar aufl (autonomous tax) oie 12 Leoeluisiigenet ((f =12),
DB PHUUBSHHeTe0, CHFW 6UHLOTEISHSET FLOBENEV (DL L SHFHenend SIS,
(03 yehreflepsit)
i1l Fswngen sufl @ Gusvdsions 10% augmomer euflenus el SLIGIL 6T,
7 1N6velluted ((ﬁ = 7) GQasn@iLsieysemenuD oTBBITeTed, GHalw
RUGLOTENHAST FIOBEN6Y DL G Henand: HTeib.

(04 yeiteMasiT)
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iv. Ggevalamd, eufl, MBBsL GLEBSIHIT . (transfer multipliers) oBweubfenend
HNBBH(BHE.
04 yeitefaeir)
QUImSTTHTID, HBHH CUTHETTHTIILOTE TS, N6TRIHD LOTBBHRIEETHLD
eIBU®LOTUT6or

X = 42 billion (gBmwedssn )
M=34+0.2Y (@séewdssn )

V. Crlw eumomaTSHHeT FLOMeNeL L L HHmeTd &enobas B . (05 yenefaei)
vi. GFsvelemd, eufl, IBBEY QUBHBH®T YBELNIBBEN6Td BTGB BHES.
(04 yerreflmei)

(QrsHsid 40 Usieflaer)

ugs ‘B’

“Guileny QUTEEMTHTISHH BH CFaTEGHF CFeIbSHINSBE TFTHGHABE o_6iTen
Frgamiseisd, Qenpd Oameitens (Fiscal Policy), mremid Gaomsitens (monetary policy),
BITbLed Lbes Comsiianasai (supply side policies) syalulmeausEpd 2 6itener.”. @evmisnsaullsir
QUTETTETIHDS o SIS CQETatih Gé FaBylene SLFTUIS.

(20 ueiterfiaEB6iT)

@@ BTl Glomss sumomTerd (aggragate out income), aul iy efgip ( interest rate)

aBweuBpled Msieupld HleneveninsefenTed gBUBD Srdbsmsbemen, IS/LM wrsflullensrds
CETewi® elendgs.

i. wHFW bl FHHE DQmlOsuehF FHamSLLIGHHD Cdbmsiiensdanst (contractionary
marketing policies) onf(psliLGHsd Sirallsaslama.

il. SPEFTHRIBID 2 6iaLLenlLH HLESalsd AHB0TE (WHeSH GaFuius
Sirorefl s alemal.

1il. DIPFNRIGD QUMBLOTN aUflEensT DFHEHBHH HioTelldBTEHI.
v. OuTmeMTHEIHH FInaf efleney U LD NHBHHS 6B
(12 Usitefaein)

ugGHwren GeueMGuibmsy aflsmstiey, Hlewp GeusBuBmed ellewsriey (Partial crowing out effect
and full crowding out effect) sy@wiauBilaalenL Guiujsiten CauBDIMOEMET  aIENILIL EIGHN6TEH
CaTemih alendEs.

(08 sitoMaein)
“UBlemas uewr aHICWTSESSIL6 (excessive money supply), Gouml snyemiseEnd L @
BILgedt QHTLBD Usmialdbs Henevsnioulensr ellensnelldbs gaouTaalhbaeond”. Qb Fnmnflener
gBEIs OETeNalamyn? Geominsll CUTHETTHTIHSMme 2 HTFaioTsds CETami® elernd:ds.

(20 yerefamsir)
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eflwrungd sBm eul L (business cycle) &L Fisemen susnguLBisemend GETamiH
aflen @ ®.

(06 LsiTerilesiT)

©_GHIEHIDWITEN 2 _c0&leVlsiTe G ENGIITIGaT o 1borsd GoGeoujeien LGE ‘A’ ullsd
allerdsln teamm, o165 anfuiisd LI CUBIBEBSHT 6IaSHeman elleNdGob.

(06 yeiteriaair)

“Qevilenaule rsmen efwimumyl LBIGTeNTHemMe QUITHSITHATRISST DiswTenlouey
LNGITETEnL_6) BN - SIEDL HBEN.” SIeNaIE6NMTeD Eeomienall GUIGsTTHIIHS 108 gmulL
HTHBHH e S Imiis.?

(08 siteassin)

el QUGID FaBBIbds FHWT  Sisbevdl Temipwin? o _ogl efenLullem ellemb@s.

ii.

iii.

iv.

Gampsd Fhansulsd QHTLeL UBMUI HBHMLET allphIGHIMmS BCLoDLIB S eTe0
SLLDEBLILLL BoueneouTsbeommioenuis GMmBULGI FTHSHUIOTEGLD.

(05 eitsriipsiT)
TFTEBSHE GOBHS ULF Cosambimsi GUTEN QBTeiendsel
Gonemsuuisveorsnioulismsnid CHTHBBIONGEHTLD.

(05 yeiterfiaeir)
Quibenad  Geuemeouisveomentd afHiD:
Ghmleu L elewieniibemns + o gmile) GeusmsowBGmmi  x 100

Qambeoreni e
(05 usitelaeir)

@@ BIIgen 2 s@HGuwnsyiaote Gaensoulsveor 1L Lib o amisniowmen Gatensoulsvson
wLLSFHemen sieiGaiemenuiauid LyalLsbaletiad.
(05 ysiterilemsir)

(UL fleniou jemL_wigi)
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